Observable  Definition
ACP D(B-—[hthT]pK™) — T(BY5hThT]pK™T)
K I(B—=[hth—]pK—) + (Bt =[hth—]pKT)
ACP (B~ =hth lpr) — T(BT=hth|prh)
™ T(B-—=[hth |pr—) + (BT —[hTth—|pnT)
AKT (B~ =[K nt]pK~) — (BT [Ktr~|pKT)
K T(B-—=[K—7nt]pK~) + I'(Bt=[K+tn—]pK™T)
RCP (B~ —[hth]pK~) + I(BT=[hThT]pKT) 1
T(B-—=[hth-|pr—) + (BT =[hth—|pnT) Rg}"ﬂ_
RE™ (B —=[K nt]pK~) + I(BYs[Kta"]pK™)
K/m T(B-—[K—nt]pr—) + (BT =[KTn—]pnT)
RTK (B =[KTn |pK™)
K- T(B——=[K—=nt]pK—)
R™E (B~ =[Ktx ]pr)
T I'(B-—[K—nt|pr—
RTK r(Bt=[K =t]p K1)
K+ I(BT=[Ktn—|pKT)
RTK r(Bt—[K =xt]pnrt)
wt T(BYT=[Ktr—|pnT)




